
A0	=	-0.16	μrad
A	=	602.56	μrad
f	=	1.08	Hz
φ	=	286.48°
d	=	0.35	1/s

y(t)	=	A0+A⋅sin(2π	f⋅t-φ)⋅e-d⋅t

Pitch

measured	data	from	07/03/2018
Fit	Result
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Mode	2	
A0	=		-0.08	μrad
A	=	33.06	μrad
f	=	1.82	Hz
φ	=	134°
d	=	8.61	1/s

Mode	1	
A0	=	0.34	μrad
A	=	35.28	μrad
f	=	1.08	Hz
φ	=	110.4°
d	=	0.31	1/s
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φ	=	48.7°
d	=	0.16	1/s

Mode	1	
A0	=	0.87	μm
A	=	62.54	μm
f	=	1.06	Hz
φ	=	218.87°
d	=	0.34	1/s
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Mode	1	
A0	=	1.04	μm
A	=	92.2	μm
f	=	1.07	Hz
φ	=	221.16°
d	=	0.36	1/s
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Mode	1	
A0	=	0.06	μm
A	=	55.74	μm
f	=	1.07	Hz
φ	=	38.78°
d	=	0.33	1/s
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